{EAMR(E
2331

o TREHF

$ ssh username@schlogin.ihep.ac.cn
IR, usernameFBEENRHIAFE

o EEMEHER:

$ pwd
$ 1s

o BURIRBIASIM

$ touch job.sh

o FIFHRALBIA

vim job.sh

o RIENARNE
1. RTINS

#!/bin/bash

echo "This job is running on $(Chostname)."
/bin/sleep 10

echo "we're doing a simple operation:"
result=$(expr 1 + 1)

echo " 1+1=$result"

/bin/sleep 10

echo "Job Done!"

2. IRIREERE | INIRIEIET,
3. HREEgEshift+insertfi AR EHA G (SEIRGEATL)
4. esciERHIRIEIET

o (RFFHBRHMIAYRIE
Twq

o REMAATHATIR


af://n0
af://n2

$ chmod +x job.sh

{EALIREE

$ hep_sub job.sh

SNERFKTH, BAET:

1 job(s) submitted to cluster 13

Hep, 13((RlLd, (FLidHFLBEBNSHIES, FRRIRLIGE TR ETIR SR,
e EiT

# ZAFEA
$ hep_q -u test001

# e IDER
$ hep_q -i 13

# WIRMBIRTSH 'R, REBIRAAIER, AIERINT GRS

$ hep_q -i 13 -hold
$ hep_q -u test001 -hold

eIV

# BERSRIAFRERL

$ hep_rm -a

# 1E(E IDMIRR
$ hep_rm 13

EE(FWEE

o {RIVEER ANREBEIAT, REEAZ, RBIEWEIREISI, EEFIE
$ 1s
HE .out 0 .err 374

- .out M{HREFIRERHRE
- .err MHEFINERIRAS

o IGUFEER:
BEERY:


af://n42
af://n48
af://n50
af://n52

$ cat job.sh.out*

BHAT, RBBRIERETER

This job 1is running on accap059.ihep.ac.cn.
we're doing a simple operation:

1+1=2

Job Done!

Hrh, accap059.ihep.ac.cn ARIHITTER, ZHREBSRELRATHTR, BEY
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